[ number of missing inner layers |

[ number of missing outer layers |

1 Entries 10337 1, Entries 10337
E Mean 0.1409 Mean 2.234
F Std Dev 0.3528 Std Dev 2,571
= HE I _ : I
10 15_ """"""""" Entries 10352 10 1= """"""""""""" Entries 10352
F Mean 0.141 F Mean 2.235
C Std Dev 0.353 C Std Dev 2571
10725— """"""""""""""""""""""""" 10725—"""""""' i A
10*32— -------------------------------------------------- 10*32— ---------------------------- T RE EEREREPL
10_45— """"""""""""""""""""""""""" 10_45— """""""""""" """""
10_52_ .................................................. 10_52_ ........................ E..........E .........
910u _....!....!....!........!............I....I.... 919\“_ I I
B F : b= X . .
o | e : :
1 | ----- it P R ELECEt EEETEERES
0,950t . BB S 0.95L : . 3
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
== DQM_V0001_R 1 obal__mkFithasel_ RE
QM_V0001_R000000001__Global__mkFitbasel__RECO
@ === DQM_V0001_R000000001__Global__mkFitbase2__RECO

20

<hits> vs n

12
10

18
16
14F

................................................

Ratio

2 3
track n

[ N of simulated tracks vs pT |

107}

1072

1073

Entries 144667

............................... Mean 2.107

Std Dev. 6.31

: I

= Entries 144667

I .- SO Mean 2.107

E : Std Dev 6.31
_ wl e vind ul [
‘lllluuuillllll“||5||||‘ : 1

;_”]HTTTTTETT”””||E|||”
1 10 102

10°

10?

10

=
|

iy
TTTT] T

=| Entries 10337
1 12,57
5.446
TreeTioirieeee T
Entries 10352
o ‘ 1 Mean :
. | Std Dev

>
+

o
o

5 10 15

[Nofreco track vs pT |

20

25

30 35 40
track hits

=
o
&
TrTTY

............................

Entries 12426
Mean 1.44
Std Dev 3.375
""" ]
Entries 12445
Mean 1.439

3.374

Std Dev

10;@_ ||||||. N 1 4
El H L | -
Eo4 :
0.95 :
1

10

10°

10° track p_



	Contents
	Page 1


